
Śruba M10x1,25x40-8.8 ;  Bolt
Podkł. spręż.10,2 ; Spring Washer
Podkł. okr. pow. 10,5 ; Plain Washer

A

B

C

D

E

Pkt. 1Pkt. 1Pkt. 1

Pkt. 2Pkt. 2Pkt. 2

Pkt. 6Pkt. 6

Pkt. 4Pkt. 4

Śruba M10x1,25x40-8.8 ;  Bolt
Podkł. spręż.10,2 ; Spring Washer
Podkł. okr. pow. 10,5 ; Plain Washer

Śruba M10x1,25x40-8.8 ;  Bolt
Podkł. spręż.10,2 ; Spring Washer
Podkł. okr. pow. 10,5 ; Plain Washer

Nakrętka  M12 ; Nut
Podkł. spręż.12,2 ; Spring Washer
Podkł. okr. 13 ; Plain Washer
Śruba M12x40-8.8 ;  Bolt

Śruba M12x25-8.8 ;  Bolt  

Śruba M12x25-8.8 ;  Bolt
Podkł. spręż.10,2 ; Spring Washer  

Pkt. 3F

F

Śruba M12x25-8.8 ;  Bolt  

Śruba M12x25-8.8 ;  Bolt
Podkł. spręż.10,2 ; Spring Washer  

Śruba M10x1,25x40-8.8 ;  Bolt
Podkł. spręż.10,2 ; Spring Washer
Podkł. okr. pow. 10,5 ; Plain Washer

Pkt. 5

Nr katalogowy

Y/A24
Marka

od  2007 ->Mitsubishi Outlander
96-111 Kowiesy, Chojnata 23 A
tel. +48 46 831 73 31peugeot 4007; Citroen C-Crosser od  2007 ->


	Sheet1
	Widok rysunku1


